

301223

2025-032

Ч

Ч

III

1 Ч

1,210,000

III

193,127,560

1,210,000

191,917,560

10

3.5

=191,917,560

$\times 3.5 / 10 = 67,171,146.00$

III

2 Ч

10

=

$\div$

$\times 10$

$=67,171,146.00 \div 193,127,560 \times 10 = 3.478071 / 10$

III

3 Ч

=

-

=

$-0.3478071 / III$

1. £ 2024

2025 5 16

2024

Ч

1 Ч

2024

10

3.50

67,171,146.00

III

Ч

1 Ч

А

2025

6 5

III

2 Ч

А

1	08*****149	
2	08*****677	

2025 5 26

2025 6

4

III

Ч

1 Ч

Ч

Ч

Ч

Ч

Ч

Э

Ю

Ч

III

III

2 Ч

Э 2023

Ю

III

3 Ч

10

=

÷

× 10

=67,171,146.00 ÷ 193,127,560 × 10 =3.478071 /10

III

=

-

=

-0.3478071 / III

Ч

28

¶

0760-85286261

¶

1 ¶ 2024

2 ¶

3 ¶

4 ¶

III

III